Unit 7 Day 12 HW Unit 7 Study Guide

Name: KE\/

Name the following polynomials according to the degree and the number of terms.

1. 3xt-8x+1 4™ Defjree
+rinomial

3. 5y2-3 uadmhb
Y Y @ihomia(_

Add or Subtract the following polynomials.

5. (2x3 X2 + 7X 10) + (4X3 -2x+8)

(;éx ~4x*+5x-2
AN

7. 4x*(3x* =1x - 2) = (-5x* + x=7)
12xtmuxdo gyl v oyt ox ¢ 7

tzx*—%xg-axz-x + 73

2. 702 quadrahc
monomiaL

4 11 constant
monomiaC

6. (2x° - X3+9x)—(3x5—7x4+2x3— 4x+ 1)
2x% 23 v ax - 3x% + 73 - 2% i - 1

_— VWV v Od AN NN

\"X +7x -Yx +\3X—T}

Multiply the following expressions. You may need to use the distributive property, FOIL, or a special

product pattern. You decide!!

XN\
8. (x+5)(x-3) (FoTL)
—/
¥*-3x+5%-\S
| x?+ 2x—l9|
0.6 2p
X+ X4 = 35X —

%3-353 Ty r 2%’ -y -4
[%3-x2-13% -4

12. (x+6)2 (X +W)(Xt0)

l xZ+12x+36 l

9. Bx+2)(2x-1) (FoIu)
S

x2-3x +ux-2

léxz +X -2

11. (x-2)(x + 2)
X*+2x-2x ~H
x% -4

13. (2x-5)2  (2%x=5)(2x— 5)

Ux-20x1425 |




/'\/)7 F not QlMPU@\(’.
&Bl\ze\)each factored expression for x (hint — Think ZPP):

14. 2x(x-7)=0
v

ZK:O\xJ =0
x=0ol |x=7]

16. (x-3)(x-8)=0
v N
320 x-8%=0

s gl

Factor out the GCF of each expression
18. 9a3 + 15a?

(r3a1(3a+5) )

20. 18y3 + 27y8

[ay’(2+3y%) ]

}sTEps!

15. (X+1)(X 10)=0
~S
X+l x-lo= 0
|X="' [x=1o]

17. (1 2x)(x+12)=0
f2x 6 Sx412:0

= =
[ %= Y,

19. 10x>y* + 14x3y8 - 2xy

RN

21. -5x + 25x7 - 15%3

l—-‘;xTI'—- be-l- 3¥2)1

+
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22. X*+2x-3=0

(x+3)(x-1)=0
v \F
X+3=0 x-\=0

23. X* +3x=4
x?+r3x-4=0
Lx+‘+)()<’l):°

v Y
X+yH4=0 X-1=0



Solve.

24. X*—2x-5=2x
-2x  T2X
)(7'-—‘4')(' =0
CX\Z‘S)(X*Qc 6
x-5=0 )('\'\“_'C>

26. 6x" +5x=6
v -
bx>+5x-6=0
(2x+3)(3x-2) <0

J )
2x+3°0  3x-270
=3 x=2
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28. 25¢* —4c* =0 G-

c*(26¢"-4)=0
c?(5c-2)(5¢72)=0
\l;_ 5 ?C 2=06 Gct+2 =0

E=a [c=%s) [c= %)

|
30. 18x% +24x* +8x=0 g

2% (Ax*+12x + %) =0
2x (3x+2)X3xr2)=0
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x=0  +1=0

-2
X=0 X%~
3
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25. 2x* —11x-21=0
(2% +3)(x =7 )=0

J AV
2% + 370 x-120
2x= 3 E‘
‘X: ;3_
Z

27. X +6X—28=9x
-ay X

x“-3x-28=0
(x-T)(x+4*4)=0

=7 fe=—d]

29. x> =2x+1=0
(x-1)x-1) =G

Xz

¢l
31. 8¢* —18¢° =0 &“
203 (4c”-9)=0

20 (2¢- 37(20%3? ©

\2043,
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32. Write a polynomial in standard form that represents that AREA and PERIMETER of the rectangle below.

heeh L-w
(3x+2)(2x -5)
3x +2 bx2-16x r4x-lo

Exz' I x —-ID:\

<« 2X-5—> Peeimerer- A + dw

a(3x+2) + 3 (ax-5)
ex +d « Yx -0

33) Write a polynomial that represent the area of the shaded area below. (Assume the shapes are

rectangles)
Al whole Y - P\(\me&w\d)
(4x3)3x +€> D
}%( 3 ax 42 - (9>< — 8><
3X 4x + 3

x4 1 [(gx’b F38X +2£/<

< 3X+8 ——




